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(+2) X (=8) X (+4) X (+2) X (=5)
DX (D 0 x D) x (<5
=(+2) X (=3) X (+8) X (—5)
=(+2) X (=3) X (—=5) X (+8) j®
=(+2) X {(=3) X (=5)} X (+8)
=(+2) X (+15) X (+8)
=(+2) X (+8) X (+15) j
=(+2) X {(+8) X (+15)}j
=(+2) X (+120)
=240
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(+2) X (=8) X (+4) X (+2) X (=5)
=(+2) X (=3) X {(+4) X (+2)} X (=5)
=(+2) X (=3) X (+8) X (-5) o
=(+2) X (—8) X (=5) X (+8) :Iﬂg]ﬂzq
=(+2) X {(=3) X (=5)} X (+8)

=(+2) X (+15) X (+8) o
=(+2) X (+8) X (+15) :Iﬂg‘ﬂ—]

()X [(+8) x (+15)} | 2 T B
=(+2) X (+120)
=240

23R 3




2.

ohe % AN APt o Shtg B

o},

© (-n*
@ —11000

@ _(_1)100
@ _11001

Q@ -14

=-1

©(-1)t=1
© —(-1)1% = -1
@ (-1)10! = -1
@ —11000 — _3
@ —11001 — _3
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(+14) = (—g) = (+14) x (—%) =-6
Ot a=3, b=7, c=-6°ER2 a+b+c=40°|t}E




== AAtstoizt
(+5.7) X (=2.4) + (+5.7) x (+3.6)

> E.

> =g 6.84

(+5.7) x (=2.4) + (+5.7) x (+3.6)
=5.7x(-2.4+3.6)
=57x1.2=06.84
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